

A Study of the Product Summability (γ, r) $(C, 1)$ to derived Fourier Series

KALPANA SAXENA and ANITA

Govt. Motilal Vigyan Mahavidyalaya, Bhopal (INDIA)

(Acceptance Date 25th May, 2014)

Abstract

The object of the present note is to extend the theorems of Sachan (E, q) $(C, 1)$ summability, $q \neq 0$ of derived Fourier series.

Key words : Cesaro Summability : (γ, r) summability, (γ, r) $(C, 1)$ summability.

1. Definition & Notation

Let the Fourier series associated with the function $f(x)$ which is integrable in Lebesgue sense over $(-\pi, \pi)$ and periodic with the period 2π , be

$$(1.1) \sum_{n=0}^{\infty} A_n(x) = \frac{1}{2} a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx)$$

The derived Fourier series of (1.1) is

$$(1.2) \sum_{n=1}^{\infty} n B_n(x) = \sum_{n=1}^{\infty} n (b_n \cos nx - a_n \sin nx)$$

An infinite series $\sum u_n$ with the partial sums S_n is said to be summable (γ, r) $(C, 1)$ to s , if

$$\sum_{v=n}^{\infty} \binom{v}{v-n} (1-r)^{n+1} r^{v-n} \sigma_v (0 \leq r < 1) \rightarrow s \text{ as } n \rightarrow \infty.$$

Where σ_v stands for the $(C, 1)$ transform

of S_n .

We shall use for fixed x and s , The following notations:

A = a positive constant, not necessarily the same at each occurrence

$$\phi(t) = f(x+t) + f(x-t) - 2s$$

$$g(t) = \frac{f(x+t) - f(x-t)}{4 \sin t / 2}$$

$$p(r, t) = 1 + r^2 - 2r \cos t$$

$$q(r, t) = \tan^{-1} \left\{ \frac{r \sin t}{1 - r \cos t} \right\}$$

Introduction

In 1960 Ishiguro³, in 1962 Lorch and Newmann⁴ and in 1965 Forbes¹ studied asymptotic behaviour of Lebesgue constants for the Taylor Summability of Fourier Series.

It is known that the Taylor summability, which is also called the circle or (γ, r) summation is regular for $0 < r < 1$ and it is equivalent to ordinary convergence for $r=0$, Hardy² (p 218).

Studying the product summability of the derived Fourier series, Sachan⁵ has proved the following theorems for (E, q) $(C, 1)$ summability of the derived Fourier series.

Theorem A : If

$$(2.1) \quad G(t) = \int_0^t |g(u)| du = O\left(\frac{t}{\log 1/t}\right), \text{ as } t \rightarrow 0$$

then

$$\sum_{n=1}^{\infty} n B_n(s) = O\left[(E, q)(C, 1)\right] (q > 0)$$

Theorem B : If

$$(2.2) \quad G(t) = \int_0^t |g(u)| du = O(t), \text{ as } t \rightarrow 0$$

and

$$(2.3) \quad \int_{\pi/m}^{\eta} \frac{|g(t) - g(t + \pi/m)|}{t} \exp\left\{-\frac{nqt^2}{2\pi^2}\right\} dt = O(1)$$

as $n \rightarrow \infty$, where η is a positive constant and

$$m = \frac{n+q+1}{q+1}, \text{ then } \sum_{n=1}^{\infty} n B_n(x) = O\left[(E, q)(C, 1)\right], (q > 0)$$

So, it is natural to expect the extension of Theorems A and B to the product summability (γ, r) , $(C, 1)$ of the derived Fourier series under the analogous conditions. With this point of view, we prove here.

Theorem 1:

If (2.1) holds, then the derived Fourier series (1.2) is summable (γ, r) , $(C, 1)$ to zero at

the point x .

Theorem 2:

If (2.2) holds and

$$(2.4) \quad \int_{\pi/m}^{\eta} \frac{|g(t) - g(t + \pi/m)|}{t} \exp(-Ant^2) dt = o(1)$$

as $n \rightarrow \infty$, for some fixed positive number

$$\eta < \pi, m = \frac{n+r}{1-r} \text{ and } A = \frac{2r}{(1+r)^2 \pi^2} \text{ then}$$

the derived Fourier series (1.2) is summable (γ, r) $(C, 1)$ to zero at the point x .

3. Preliminary Estimates and Relations:

$$(3.1) \quad q(r, t) = \tan^{-1} \frac{r \sin t}{1 - r \cos t}$$

$$= \frac{rt}{1-r} + O(t^3)$$

Where t is positive and small.

$$(3.2) \quad g(n, t) = O(n^2, t), \text{ for } 0 < t < \pi/n$$

$$= O(n), \text{ for } 0 < t < \pi/n$$

$$(3.3) \quad = O(1/t), \text{ for } t > \pi/n$$

$$\text{For } 0 \leq t \leq \pi \text{ and } A = \frac{2r}{(1-r)^2 \pi^2} > 0$$

$$(3.4) \quad \frac{(1-r)^\eta}{\{p(r, t)\}^{\eta/2}} = O\left\{\exp(-Ant^2)\right\}$$

$$(3.5) \quad \cos\{(n+1)(t+q(r, t))\} - \cos\left\{\frac{(n+1)+r}{1-r}\right\} t = O(nt^3)$$

for small $t > \pi/m$.

$$(3.6) \quad \text{for } m = \frac{n+r}{1-r}, \text{ finite } t \text{ and } 0 < l < 1$$

$$\{p(r, t)\}^{-(n+1)/2} - \{p(r, t + \pi/m)\}^{-(n+1)/2}$$

$$= \frac{(n+1)\pi r(1-r)\sin(t+l\pi/m)}{(n+r)\left\{p\left(r, t+\frac{l\pi}{m}\right)\right\}^{(n+3)/2}}$$

Proof of (3.1) :

By Maclaurin's Theorem, we have

$$\begin{aligned} q(r, t) &= \tan^{-1}\left(\frac{r \sin t}{1-r \cos t}\right) \\ &= \frac{rt}{1-r} - \frac{r(1-r)t^3}{(1-r)^3 3!} \\ &= \frac{rt}{1-r} - B(t)t^3 \end{aligned}$$

Where $B(t)$ is a bounded positive power function of t with

$$0 < B(t) < \frac{r(1-r)}{6(1-r)^3} < \frac{1}{3(1-r)^3}$$

The estimates of (3.2) can be easily be obtained by expanding sine and cosine in power of n and t , and (3.3) simply by maximising $\sin nt$ and $\cos nt$

Proof of (3.4) :

This estimate is due to Forbes¹ partially for $0 \leq t \leq \pi/2$, however the same is due to Sachan⁶ completely for $0 \leq t \leq \pi$

Proof of (3.5) :

For $t > \pi/m$, using the relation (3.1) and expanding cosine and sine, we find

$$\cos\left\{\left((n+1)(t+q(r, t))\right)\right\} - \cos\left\{\frac{(n+1+r)}{1-r}\right\}t$$

$$\begin{aligned} &= \cos\left[(n+1)\left\{t+\frac{rt}{1-r}-B(t)t^3\right\}\right] - \cos\left\{\frac{n+1+r}{1-r}\right\}t \\ &= \cos\left[(n+1)\left\{\frac{t}{1-r}-B(t)t^3\right\}\right] - \cos\left\{\frac{n+1+r}{1-r}\right\}t \\ &= O(nt^3) \end{aligned}$$

Proof of (3.6) :

Since $\{p(r, t)\}^{-(n+1)/2} = (1+r^2-2r \cos t)^{-(n+1)/2}$ is continuous and differentiable in any finite interval of t , we have, by the mean value Theorem of differential calculus⁶.

$$\begin{aligned} &= \frac{\{p(r, t+\pi/m)\}^{-(n+1)/2} - \{p(r, t)\}^{-(n+1)/2}}{t+\frac{\pi}{m}-t} \\ &= \frac{d}{dt}\{p(r, \theta)\}^{-(n+1)/2} \text{ Where } \theta = t + \frac{\pi l}{m}, (0 < l < 1) \\ &= -\frac{n}{2}\{p(r, \theta)\}^{-(n+3)/2} 2r \sin \theta \\ &= -\frac{n}{2}\left\{p\left(r, t+\frac{l\pi}{m}\right)\right\}^{-(n+3)/2} 2r \sin\left(t+\frac{l\pi}{m}\right) \\ &\text{consequently,} \\ &= \{p(r, t)\}^{-(n+1)/2} - \{p(r, t+\pi/m)\}^{-(n+1)/2} \\ &= \frac{\pi}{m} r(n+1) \left[p\left(r, t+\frac{l\pi}{m}\right)\right]^{-\frac{(n+3)}{2}} \sin\left(t+\frac{l\pi}{m}\right) \\ &= \frac{\pi r(n+1)(1-r)}{(n+1)} \left\{p\left(r, t+\frac{l\pi}{m}\right)\right\}^{-(n+3)/2} \sin\left(t+\frac{l\pi}{m}\right) \\ &= \frac{\pi r(1-r) \sin\left(t+\frac{l\pi}{m}\right)}{\left\{p\left(r, t+\frac{l\pi}{m}\right)\right\}^{(n+3)/2}} \text{ where } 0 < l < 1 \end{aligned}$$

4. Preliminary Lemmas :

*Proof:**Lemma 1.*

If $g(t)$ be integrable (L) and δ is any positive real number less than⁷ (Titchmarsh, E.C.) then the (C,1) transform σ_n of the n^{th} partial sum S_n of the derived Fourier series in given by

The n^{th} partial sum S_n of the derived Fourier series (1.2) may be written as

$$S_n = -\frac{1}{\pi} \int_0^\pi \psi(t) \frac{d}{dt} \left\{ \frac{\sin(n+1/2)t}{2 \sin t/2} \right\} dt$$

$$\sigma_n = \frac{2}{\pi} \int_0^\delta g(t) \left[\frac{2\{1 - \cos(n+1)t\}}{(n+1)t^2} - \frac{\sin(n+1)t}{t} \right] dt + o(1)$$

Denoting (C,1) transform of S_{n+1} by σ_n

$$\begin{aligned} \sigma_n &= -\frac{1}{(n+1)\pi} \int_0^\pi \psi(t) \left[\sum_{k=0}^n \frac{d}{dt} \left\{ \frac{\sin(k+1/2)t}{2 \sin t/2} \right\} \right] dt \\ &= -\frac{1}{(n+1)\pi} \int_0^\pi \psi(t) \frac{d}{dt} \left[\frac{1}{4 \sin^2 t/2} \sum_{k=0}^n \{ \cos kt - \cos(k+1)t \} \right] dt \\ &= -\frac{1}{(n+1)\pi} \int_0^\pi \psi(t) \frac{d}{dt} \left(\frac{1 - \cos(n+1)t}{\sin^2 t/2} \right) dt \\ &= \frac{1}{\pi} \int_0^\pi g(t) \left[\frac{\cos \frac{t}{2} \{1 - \cos(n+1)\} t}{(n+1) \sin^2 t/2} - \frac{\sin(n+1)t}{\sin t/2} \right] dt \\ &= \frac{1}{\pi} \int_0^\delta g(t) \left[\frac{\cos \frac{t}{2} \{1 - \cos(n+1)\} t}{(n+1) \sin^2 t/2} - \frac{\sin(n+1)t}{\sin t/2} \right] dt + o(1) \end{aligned}$$

as $n \rightarrow \infty$, since the last interval over (δ, π) is $o(1)$ partly by presence of n in the denominator and partly by Riemann-Lebesgue Theorem.

It may also be written as

$$\sigma_n = \frac{2}{\pi} \int_0^\delta g(t) \left[\frac{2\{1 - \cos(n+1)\} t}{(n+1)t^2} - \frac{\sin(n+1)t}{t} \right] dt + o(1)$$

Lemma 2 :

If (2.2) holds for $t \leq \delta$, then

$$\int_0^\delta g(t) \frac{\{1 - \cos(n+1)t\}}{(n+1)t^2} dt = o(1)$$

Proof:

Integral may be written as

$$\left[\int_0^{\pi/n} + \int_{\pi/n}^\delta g(t) \frac{\{1 - \cos(n+1)t\}}{(n+1)t^2} \right] dt$$

= I + J, say

since for $t > 0$

$$\frac{\{1 - \cos(n+1)t\}}{(n+1)t^2} = o(n)$$

We obtain by making use of (2.2)

$$|I| = o(1) \quad \text{as } n \rightarrow \infty$$

Integrating by parts and using (2.2), we get

$$|J| = 0 \left(\frac{1}{n} \right) \left[0 \left(\frac{1}{t} \right) + 2 \int 0 \left(\frac{1}{t^2} \right) dt \right]_{\pi/n}^\delta$$

$$= o(1), \quad \text{as } n \rightarrow \infty$$

It follows that

$$|I + J| \leq |I| + |J| = o(1)$$

Lemma 3 :

$$\sum_{v=1}^{\infty} \binom{v}{v-n} r^{v-n} \frac{\sin(v+1)t}{t} = \frac{\sin \left[(n+1) \left\{ t - \tan^{-1} \left(\frac{r \sin t}{1-r \cos t} \right) \right\} \right]}{(1+r^2-2r \cos t)^{(n+1)/2} \cdot t}$$

Proof :

$$\sum_{v=n}^{\infty} \binom{v}{v-n} r^{v-n} \frac{\sin(v+1)t}{t}$$

$$= \frac{1}{t} I_{mg} \sum_{v=n}^{\infty} \binom{v}{v-n} r^{v-n} e^{i(v+1)t}$$

$$= \frac{1}{t} I_{mg} \left[e^{i(n+1)t} \sum_{v=n}^{\infty} \binom{v}{v-n} r^{v-n} e^{i(v-n)t} \right]$$

$$= \frac{1}{t} I_{mg} \left[e^{i(n+1)t} (1 - re^{it})^{-(n+1)} \right]$$

$$= \frac{1}{t} \cdot \frac{\sin \left[(n+1) \left\{ t - \tan^{-1} \left(\frac{r \sin t}{1-r \cos t} \right) \right\} \right]}{(1+r^2-2r \cos t)^{(n+1)/2}}$$

Lemma 4 :

If $m = \frac{n+r}{1-r}$ and $\frac{1}{3} < \alpha < \frac{1}{2}$ and (2.2) holds.

then

$$(1-r)^{(n+1)} \int_{\pi/m}^{(\pi/m)^\alpha} \frac{g(t)}{t} \cdot \frac{\left[\sin \left\{ (n+1) \left(t - \tan^{-1} \left(\frac{r \sin t}{1-r \cos t} \right) \right) \right\} - \sin mt \right]}{(1+r^2-2r \cos t)^{(n+1)/2}} dt$$

$$= o(1)$$

Proof:

By estimates (3.4), (3.5), condition (2.2) and integration by parts, we have

$$|I| \leq \int_{\pi/m}^{(\pi/m)^\alpha} \frac{|g(t)|}{t} O \exp(-Ant^2) O(nt^3) dt$$

$$= O(n) \int_{\pi/m}^{(\pi/m)^\alpha} |g(t)| \cdot t^2 dt$$

$$= O(n) \left[o(t)t^2 - 2 \int o(t)t dt \right]_{\pi/m}^{(\pi/m)^\alpha}$$

$$= O(n) \left[o(t^3)_{\pi/m}^{(\pi/m)^\alpha} \right]$$

$$= o(1), \text{ as } n \rightarrow \infty, \text{ since } m = \frac{n+r}{1-r}$$

Lemma 5 :

If (2.2) holds and $0 < \alpha < \frac{1}{2}$, then

$$(1-r)^{n+1} \int_{\pi/m}^{(\pi/m)^\alpha} \frac{g(t+\pi/m)}{t} \left[\{p(r,t)\}^{\frac{(n+1)}{2}} - \{p(r+t+\pi/m)\}^{\frac{(n+1)}{2}} \sin(n+1)t \, dt \right]$$

$$= o(1)$$

Proof :

Using the second mean value theorem and condition (2.2)

$$= \int_{\pi/m}^{(\pi/m)^\alpha} \frac{|g(t+\pi/m)|}{t} O[t \exp(-Ant^2)] dt$$

$$= O \left[\exp \left\{ -An(\pi/m)^{2\alpha} \right\} \right] \int_{\pi/m}^{(\pi/m)^\beta} |g(t+\pi/m)| dt$$

$$= o(1) \left[(t+\pi/m) \right]_{\pi/m}^{(\pi/m)^\beta} \text{ Where } 0 < \alpha \leq \beta < 1$$

$$= o(1), \text{ as } n \rightarrow \infty$$

5. Proof Of Theorem 1 :

Following lemma 1 & lemma 2, the (C,1) transform σ_n of partial sum S_n of derived Fourier series (1.2) may be written as

$$\sigma_n = -\frac{2}{\pi} \int_0^\delta g(t) \frac{\sin(n+1)t}{t} dt + o(1)$$

Denoting the Taylor transform of σ_n i.e.

(γ, r) , (C,1) transform of S_n by T_n^r . We have by regularity of the Taylor method of summation,

$$T_n^r = -\frac{2}{\pi} (1-r)^{n+1} \int_0^\delta g(t) \sum_{v=n}^\infty \binom{v}{v-n} r^{v-n} \frac{\sin(n+1)t}{t} dt + o(1)$$

Using Lemma 3 and notations, we have

$$= -\frac{2}{\pi} (1-r)^{n+1} \int_0^\delta \frac{g(t)}{t} \frac{\sin \left[(n+1) \left\{ t - \tan^{-1} \frac{r \sin t}{1-r \cos t} \right\} \right]}{(1+r^2-2r \cos t)^{(n+1)/2}} dt + o(1)$$

$$= -\frac{2}{\pi} (1-r)^{n+1} \int_0^\delta \frac{g(t)}{t} \frac{\sin \left[(n+1) \{t - q(r,t)\} \right]}{(p(r,t))^{(n+1)/2}} dt + o(1)$$

$$= -\frac{2}{\pi} (1-r)^{n+1} \left[\int_0^{\pi/m} + \int_{\pi/m}^{(\pi/m)^\alpha} + \int_{(\pi/m)^\alpha}^\delta \right] \frac{g(t)}{t} \frac{\sin \left[(n+1) \{t - q(r,t)\} \right]}{\{p(r,t)\}^{(n+1)/2}} dt + o(1)$$

$$(5.1) = -\frac{2}{\pi} [P + Q + R] + o(1), \text{ say where } \frac{1}{3} < \alpha < \frac{1}{2}$$

We obtain by (2.1) and estimate (3.2)

$$|P| = \int_0^{\pi/m} |g(t)| O(n) dt$$

$$(5.2) = o(1), \text{ as } n \rightarrow \infty$$

An integration by parts and application of (2.1) gives

$$|Q| = o(1) \int_{\pi/m}^{(\pi/m)^\alpha} \frac{|g(t)|}{t} dt$$

$$= o(1) \left[\left\{ 0(t) \frac{1}{t} \right\} + 0 \left\{ \frac{1}{t \log 1/t} \right\} dt \right]_{\pi/m}^{(\pi/m)^\alpha}$$

$$= o(1) + o(1) \left[-\log \log 1/t \right]_{\pi/m}^{(\pi/m)^\alpha}$$

$$= o(1) + 0 \left[\log \frac{1}{\alpha} \right]$$

$$(5.3) = o(1), \text{ as } n \rightarrow \infty \text{ since Where } 0 < \alpha < \frac{1}{2}$$

Next, by continuity part of the integral,
We have

$$|R| = \int_{(\pi/m)^\alpha}^{\delta} |g(t)| \exp\{-A(n+1)t^2\} dt$$

$$2Q = \int_{\pi/m}^{(\pi/m)^\alpha} \frac{g(t)}{t} \frac{(1-r)^{n+1}}{\{p(r,t)\}^{(n+1)/2}} \sin mtdt + o(1)$$

$$= \int_{\pi/m}^{(\pi/m)^\alpha} \frac{g(t)}{t} \frac{(1-r)^{n+1}}{\{p(r,t)\}^{(n+1)/2}} \sin mtdt$$

$$- \int_0^{(\pi/m)^\alpha - \pi/m} \frac{g(t + \pi/m)}{(t + \pi/m)} \frac{(1-r)^{n+1}}{\{p(r,t)\}^{(n+1)/2}} \sin mtdt$$

$$= \int_{\pi/m}^{(\pi/m)^\alpha} \frac{g(t) - g(t + \pi/m)}{t} \frac{(1-r)^{n+1}}{\{p(r,t)\}^{(n+1)/2}} \sin mtdt$$

$$= 0 \left[\frac{m^\alpha}{\pi^\alpha \exp\left\{A(n+1) \frac{\pi^{2\alpha}}{m^{2\alpha}}\right\}} \int_{(\pi/m)^\alpha}^{\delta} |g(t)| dt \right]$$

$$= 0 \left[\frac{m^\alpha}{\pi^\alpha \exp\{A n^{1-2\alpha}\}} \right]$$

$$(5.4) = o(1), \text{ as } n \rightarrow \infty \text{ Where } 0 < \alpha < \frac{1}{2}$$

By virtue of (5.1), (5.2), (5.3) and (5.4)

$$T_n^r = o(1) \text{ as } n \rightarrow \infty$$

Hence the proof of theorem 1 is complete

6. Proof of Theorem 2 :

It may be noted that from the proof of theorem 1, $P, R = o(1)$ under the hypothesis (2.2) and (2.4). Applying Lemma 4, we write

$$\begin{aligned}
& + \int_{\pi/m}^{(\pi/m)^\alpha} \frac{g(t + \pi/m)}{t} (1-r)^{n+1} \left[\{p(r, t + \pi/m)\}^{-(n+1)/2} - \{p(r, t)\}^{-(n+1)/2} \right] \sin mtdt \\
& + \int_{\pi/m}^{(\pi/m)^\alpha} g(t + \pi/m) \left(\frac{1}{t} - \frac{1}{t + \pi/m} \right) \frac{(1-r)^{n+1}}{\{p(r, t)\}^{(n+1)/2}} \sin mtdt \\
& - \int_0^{\pi/m} \frac{g(t + \pi/m)}{t + \pi/m} \frac{(1-r)^{n+1}}{\{p(r, t + \pi/m)\}^{(n+1)/2}} \sin mtdt \\
& + \int_{(\pi/m)^\alpha - (\pi/m)}^{(\pi/m)^\alpha} \frac{g(t + \pi/m)}{(t + \pi/m)} \frac{(1-r)^{n+1}}{\{p(r, t + \pi/m)\}^{(n+1)/2}} \sin mtdt \\
& = J_1 + J_2 + J_3 - J_4 + J_5, \text{ say}
\end{aligned}$$

By the hypothesis (2.3) and estimate (3.4)

$$\begin{aligned}
|J_1| &= o(1) \int_{\pi/m}^{(\pi/m)^\alpha} \frac{|g(t) - g(t + \pi/m)|}{t} \exp\{-Ant^2\} . dt \\
&= o(1), \quad \text{as } n \rightarrow \infty
\end{aligned}$$

By (2.2) and (3.6)

$$\begin{aligned}
|J_2| &= \left| \int_{\pi/m}^{(\pi/m)^\alpha} \frac{g(t + \pi/m)}{t} \frac{(1-r)^{(n+1)} \pi r (1-r) \sin(t + \pi/m)}{(n+r) \left\{ p\left(r, t + \frac{\pi l}{m}\right)^{\frac{n+3}{2}} \right\}} \sin mt \, dt \right| \\
&= o(1) \int_{\pi/m}^{(\pi/m)^\alpha} |g(t + \pi/m)| \, dt \\
&= o(1), \quad \text{as } n \rightarrow \infty \quad \text{since, } \alpha \leq \frac{1}{3}
\end{aligned}$$

Integration by parts and (2.2)

$$\begin{aligned} |J_3| &\leq \frac{\pi}{m} \int_{\pi/m}^{(\pi/m)^\alpha} \frac{|g(t + \pi/m)|}{t(t + \pi/m)} dt \\ &< \frac{\pi}{m} \int_{\frac{\pi}{m}}^{(\pi/m)^\alpha} \frac{|g(t + \pi/m)|}{t^2} dt \end{aligned}$$

$$= o\left(\frac{1}{n}\right) \left[\frac{o(t + \pi/m)}{t^2} + 2 \int \frac{o(t + \pi/m)}{t^3} dt \right]_{\pi/m}^{(\pi/m)^\alpha}$$

$$= o\left(\frac{1}{n}\right) \left[o\left(\frac{1}{t}\right) + 2 \int o\left(\frac{1}{t^2}\right) dt \right]_{\pi/m}^{(\pi/m)^\alpha}$$

$$= o(1), \quad \text{as } n \rightarrow \infty \text{ since, } \frac{1}{3} \leq \alpha < \frac{1}{2} \text{ and}$$

$$m = \frac{n+r}{1-r}$$

By change of variables and (2.2)

$$\begin{aligned} |J_4| &\leq \int_{\pi/m}^{2\pi/m} \frac{|g(t)|}{t} dt \\ &= O\left(\frac{m}{\pi}\right) \int_{\pi/m}^{2\pi/m} |g(t)| dt \\ &= o(1), \quad \text{as } n \rightarrow \infty \end{aligned}$$

and

$$\begin{aligned} |J_5| &\leq \int_{(\pi/m)}^{(\pi/m)^\alpha + \pi/m} \frac{|g(t)|}{t} dt \\ &< \left(\frac{m}{\pi}\right)^\alpha \int_{(\pi/m)^\alpha}^{(2\pi/m)^\alpha} |g(t)| dt \\ &= o(1), \quad \text{as } n \rightarrow \infty \end{aligned}$$

Thus we show that

$$(5.4) = o(1), \quad \text{as } n \rightarrow \infty$$

Which completes the proof of Theorem 2.

Acknowledgement

The authors are extremely grateful to Dr. M.P. Sachan for kind interest and valuable suggestions in the preparation of this paper.

References

1. Forbes, R.L., Lebesgue constants for regular Taylor Summability *Canad. Math Bull.*, (16)8, 797-808 (1965).
2. Hardy, G.H., *Divergent Series Oxford* (1949).
3. Ishiguro, K. The Lebesgue constants for summation of Fourier series *Proc. Japan. Acad* 36, 470-474 (1960).
4. Lorch, L. and Newmann, D.J., The Lebesgue constants for summation of Fourier series, *Canad. Math Bull.* 126, 179-182 (1963).
5. Sachan, M.P., Euler-product summability

- of the derived Fourier series Ph.D. Thesis APSU Rewa, Chap VII (1983).
6. Sachan, M.P., Taylor summability of a class of Fourier series, *Vijnana Parishad Anu. Patrika* (Allahabad) (26), 21-26 (1989).
7. Titchmarsh, E.C., Theory of function, Oxford (1961).